MATH 100 Name
Test #3 Fall 2007

No calculators are allowed when taking Part [ of this test. You may do scratch work at the bottom of

this page or on the back of the page. You should take no more than about 10-15 minutes on Part 1.
When you finish Part I, turn it in and begin on Part II. You may use your calculator on Part IL

- Part L. (2 points each)

For items 1-5 match each function with the most appropriate sketch of a graph.
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For items 7-10 write your answer on the line in the answer column.
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Part IT (5 points each). In each case, either explain how you soived the problem or show your
work in the space provided.

11. The population of a country is now 10 million and is growing at a continuously compounding rate
of 4% per year.

a. Assume that the country’s populatlon will continue to grow at the present rate and write a
rule for a function that will give the country $ population as a function of time in years
from the present.

b. Show how to use your ﬁmctlon fo estlmate the country s populatlon m ﬁve years Be sure
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For items 13 and 14 specify the type of function that will best fit the data (linear, exponential,
power, or revised inverse) and specify a rule for the particular function you think best fits the
data. In each case calculate the first differences and the ratios of successive terms and explain
how you determined the type of function you specified. Describe the shape of the graph and
determme the value of y when x=10. :
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